
®

Made Right When You Need It, Driven To Be Better

Modified:12/12/2008

www. eNewton.com (919) 575-6426111 East “A” Street, Butner NC 27509

Cable Management
Horizontal Cable Management

Item Qty Description

S
to

ck
 L

is
t 1 ar 12-24 Hex Nut    

2 ar #12 external tooth washer

3 1 Brace

4 ar 12-24 X 1/2˝ PHMS

5 ar 3-1/2˝ x 3-1/2˝ D-ring

Part Number rack

O
rd

er
in

g
 T

ab
le 22180101xx 19˝

22180102xx 23˝

Notes:
19” wire management panel has 5 D-rings• 
23” wire management panel has 6 D-rings• 

Item Qty Description

S
to

ck
 L

is
t

1 1 Snap bushing

2 8 #8-32 x 5/16” rhms

3 8 8-32  hex nut

4 8 #8 flat washer

5 4 12-24 x 1/4” phms

6 4 cable manager spool

7 1 Horizontal Cable Manager Panel

Part Number Mtg width

O
rd

er
in

g
 T

ab
le 22233001xx 19”

22233002xx 23”


